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Practice Question 
 

If the Formula for chutney yields 6L, how many units of 290 ml jars of chutney would you yield and what 
would the cost be per unit? 

a. Total Ingredient Cost (Column H) = __________ 

b. Units Produced  = Yield ÷ Size of packaging 

 = ___________* ÷ __________ ml or g 

 = ___________ units 

 *  If this amount I L, change to ml, or of kg, to g. 

c. Cost per Unit =  Total Ingredient Cost (Answer from a.) 

   ÷ Units Produced (Answer from b.) 

  = ______________________ ÷ ___________________ 

  = $ ______________ / unit 
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